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SOLVE THE FOLLOWING EQUATIONS WS2

1. 3z+2=14 2. 5z—-3=—13 3. Tx—4=10

4 8zx+4= -20 5. 6z—18= —18 6. 8z—12=12

7 4x+11=-13 8 6x+13= -5 9 16=5x—-14

10. 14 =Tz 28 11. 11z +19 =63 12. 8z —-4=24
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13. 8—3z= -1

14, 27T=32- 152

15, —12=5z+3

16. 5x—3.6=5 17 41.z—-T74= - 11.5 18. 0.3z +5.08= — 8.2
z T 2z
19. —+5=T7 D 4= — T 1= -
3 20 5 4 1 21 1 1 7
3z 2z 3z
22. 8=—+4 23 8§ - = — —5_ 2 _
5 8 3 4 24, 5 1 4
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3OLVE THE FOLLOWING EQUATIONS WS2
1. 3z+2=14 2. 5z—3= —13 3. Tx—4=10
-2 -2 +3 +3 + 4
A =1L Sx =-10 X = 14
X =4 X= -2 A= Z

5. 6z—18= —18

6. 8z—12=12
+1g +1 g V2
¥ = ”2‘% Lx = O 2_><=l‘f
X = —-5 X - O X= 3
7. 4zr+11= —-13 8 6z+13= —5 9. 16=5xr—14
~t1 - -3 —3 e
de = —a2¢ bx = -I% 30 =S¢
X = - A=-3 Q”: X
10. 14 =Tz —28 11. 11z +19 =63 12. 8x—4=24
28 - \\K “94 « +4 494
= = 4
42 = 1X ¥ =28
B X > 4 €
b= X 29
A —g‘
X = -734
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3. 8—8z= —1 14 27 =32 — 152 15, —12=5z+3
- - -32 -3
a7
—3x = —? -5 = -5 ~1%H = 5%
X =3 — -
=5 = X —3eX
s = x
16. 57 —3.6=5 17. dlz—74= <115 18. 0.3z 1500 = —82
5 3 7.+ ~5.01
X = %.6 4{x = -4, | «3x =—t3.1q
X= gL X 2o | = ~44.3
X=1.72
19 2 45=7 20 T_4=_1 21. 22 1o _q
3 2 2
X—l-\bf':‘ll -8z —X 2¥ -4 = -29
x = G x= b 2y = -2Y
xX= 1L
22 8=3% 14 23, 8-22 _4 24 —5-% _4
5 3 ‘ 4 =
4o = 3x +20 -1x= I
20 = 2K —x = AT ~5x = 3L
4, 2 o
3 = /k Xf:;_flaf'
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